ever Clues

.\
You need Z a classmate 1
Activity
<>Hannah, Joe, and Rion are cousins. They all belong to different families.

I'm 8 times as
old as Rion.

I'm half as old
as Hannah.

How old are Hannah and Joe?

<>

Well, I'm 4 times as
heavy as Rion!

| weigh
15 kilograms.

How much do Joe and Hannah weigh?
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@a. Rion gets 50 cents pocket money each week. Joe gets $2.

Joe gets 4 times as
much as Rion.

| get $1.50 more
than Rion.

Who is right?

b. Hannah gets $8 a week more than Joe. How many times as much as
Joe gets is this?

c. i. How much more does Hannah get than Rion?

ii. Use a “more than” statement and a “times as much as” statement
to explain the answer. (See the speech bubbles in question 3a.)

My family has twice

as many people as Rion's
but only half the
number of Joe's.

Joe has 4 times as
many people in his
family as | have.

My family is quite big.
We can’t all fit in an 8-seater van,

but if we use two 8-seater vans,
there are seats to spare.

How many are in each person’s family?

Make up some “times as much” or “times as many” problems
for a classmate to solve.

19





